SOLUTIONS OF THE PUZZLES

Ans1- 4 boys and 3 girls

Ans2- Tinku takes 12 having age 6), Rinku takes 9 having age 4 years and 6 months, jojo takes 14 having age of 7.

Ans3- Jayant -24, Mohini -18
Ans4- Glass delivered-95    Glass Broken-5

Ans5- 27

Ans6- 5 two paisa stamps, 30 one paisa stamp, 7 five paisa stamp.
Ans7-      
[image: image1.jpg]There isn’t really any mystery, because the explanation
is simple. While the two ways of selling are only
identical, when the number of marbles sold at three for
a paisa and two for a paisa is in the proportion of three
to two. Therefore, if the first woman had handed over
36 marbles and the second woman 24, they would
have fetched 24 paise, immaterial of, whether sold
separately or at five for 2 paise. But if they had the
same number of marbles which led to loss of 1 paisa
when sold together, in every 60 marbles So, if they had
60 each, there would be a loss of 2 paise and if there
were 90 each (180 altogether) they would lose 3 paise
and so on.

In the case of 60, the missing 1 paisa arises from
the fact that the 3 marbles per paisa woman gains 2
paise and the 2 marbles per paisa woman loses 3 paise.

The first woman receives 9'/2 paise and the second
woman 14/2,s0 that each loses !/2 paise in the trans-
action




Ans8- 600
Ans9- -40°F

Ans10- 
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Ans11-

[image: image3.jpg]8/7th of Rs. 35 equals Rs. 40, the regular selling price:
of the first frock and 7/eth of Rs. 30 equals Rs. 35, the
regular selling price of the second frock. Now. if the
first frock usually sells for Rs. 40 and is sold for Rs. 35
on the reduced price, then [ save Rs. 5. This gives me
a gain on the cost the percentage of °/15 which equals
1/7 and that is a little more than 14.28.

The second frock usually sells for Rs. 35, which on
the reduced price costs me Rs. 30. Again | save Rs. 5
which equals ®/30 or /6 that amounts to, in percentage,
a gain of little more than 16.66. The difference bet-
ween the first frock and the second in terms of percen-
tage gained is a little more. than 2.38. Hence, the
second frock is a better buy.




